
USER INSTRUCTIONS AND IMPORTANT SAFETY INFORMATION
IMPORTANT: Please completely understand all user instructions and safety information before using this product. 

If the instructions below are not followed, the risk of damaging the seat post is likely.
As with any high-tech product you need to routinely check the DELTA SONIC for loose hardware, cracks or other damage,

replacing items as necessary. Do not use product if any of these conditions are found.

INSTALLATION INSTRUCTIONS

TOOLS REQUIRED
3mm Hex Wrench
4mm Hex Wrench
Torque Wrench up to 35 in lbs (4.0 Nm)

1.  Remove zip ties from GORILLA cage.
2.  Mount the GORILLA cage to the back of the DELTA SONIC rod using the (2) M4 x 12mm Socket Head screws 
     and M4 Fender Washers.

GORILLA 
     into the threaded holes in the back of the rod.
4.  Tighten screws to 15-20 in lbs (1.7-2.3 Nm) of torque.
5.  Insert the rod into the back of the seat post to desired location. The rod will slide back and forth independently from the seat.
6.  Place the seat post clamp on top of the seat post with the long side towards the back of the bike. If the clamp 
     overhangs off the seat post, turn it around so the long side is towards the front of the bike.
7.  Place the M5 x 12mm screw through the seat post clamp, then through the seat post slot and into the threaded 
     hole in the top of the rod.

DELTA SONIC rod.
     Tighten M5 x 12mm screw to 30-35 in lbs (3.4-4.0 Nm) of torque. The Loctite on the threads will harden over 24 hours. 
     You can still remove the screws in the future, but the Loctite is a one-time use. You can purchase replacement screws 
     with Loctite on the XLAB web store.
8.  Your DELTA SONIC should now be installed and 
     look like the image.

MAINTENANCE
Frequently check that all screws are tight.
The included screws have non-permanent Loctite and
is good for the initial install. If the screws are removed after
installation re-apply Loctite to the screw thread or purchase new screws with Loctite on the
XLAB web store.

WARRANTY
The GORILLA cage comes with a limited lifetime warranty.
The DELTA SONIC rod comes with a 2 year limited warranty.
See website for more details.

DELTA SONICDELTA SONIC

M4 x 12mm
Socket Head (x2)

M5x12mm Socket Head 

M4 Fender Washer (x2)

To mount the MULTI-STRIKE REPAIR 
HOLDER or AERO POUCH 300 use 
the supplied M4x18mm screws included in 
those kits and refer to the instructions for these 
products.

Delta Sonic Clamp


